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- Which one of the

- Who was the propounder of Hill Slope Cycle
theory?

(1) A. Young (2) W.M. Davis

(3) W. Penck (4) L.C. King

(5) Question not attempted

- Which of the following agriculture region is also

known as “heart of world’s wine industry”?

(1) Sugarcane Producing Regions

(2) Mediterranean Agriculture Regions

(3) Commercial Grain Farming Agriculture

Regions

(4) Commercial Plantation Agriculture Regions

(5) Question not attempted

- Consider the following statements and select the

correct answer from the code given below -

Statement (A): The concept of differential
heating about the origin of
Indian monsoon was given by
Halley.

Reason (R): The concept of differential heating

explains the origin of Indian

monsoon.
Code -

(1) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(2) Both (A) and (R) are false

(3) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(4) (A) is true but (R) is false

(5) Question not attempted

following  pair

(Minerals - Mining Area) is correctly matched?

(1) Coal - Bassein

(2) Bauxite - Gorumahisani

(3) Iron - Singrauli

(4) Petroleum - Lunej

(5) Question not attempted

- Which one of the following is correct sequence

of Lakes in Rajasthan from North to South?

(1) Mandal Tal — Foy Sagar — Gaib Sagar —
Fateh Sagar

(2) Gaib Sagar — Fateh Sagar — Mandal Tal —
Foy Sagar ,

(3) Foy Sagar — Mandal Tal — Gaib Sagar —
Fateh Sagar : =

(4) Foy Sagar — Mandal Tal — Fateh Sagar 5"~

Gaib Sagar
(5) Question not attempted

GET IT ON
Google Play |

- UBIS! 3l 9% fAgid & ufaues o o
(1) T T (2 s=TH. S
(3) sy, i @) v f
(5) srgaRa T

. frefefas 3 W T PR Wy R @

IRTG /A139 SEFT & g8’ b wy § W &
ST 87

(1) =TT SqIEd Y

(2) -—7arTRIY P YT

(3) T oM & Wit HfY o

(@) fRTE T B Tew

(5) IxIRa us

- feifhd @ W faar AR gor =

T §E | ¥8 SR g —
DY (A): IR YA B SART & T |
AT faves & HpeuT 2ol §NT o
TS o |
R (R): AU fANE 9 Aheasr IR
AT B SART BT TS 2 |
az\?_
(1) (A)dr (R) TH] 2l 8 3iR (R), (A) &T 91
AT Bl &
(2) (A) T (R) SFT AT &
(3) (A) o (R) I W& & fBg (R), (A) B
eI AT T8l Hal &
@) (A) ¥ & fog (R) Tad &

(5) SR we

- f=folad 4 & s g9 (@S — @5 89)

| GHferd &7

(1) ®ger — IRE

(2) diFarse — MeHRaE!
(3) ofrer — TR

@) YRR —

(5) gaRa ue=

- fEfaRead # 9 o @ el B ST 9

gferor feem § w9 %9 Hiewr 87

(1) A8 10 — BF 9K — 19 9K — B8
AR

(2) 99 9'R — A8 IR — Hisd el — Big
AR

(3) BT WX — Higd Al — T 9N — B
RiIRIES

(4) B AR — Higd did — Bag IR — 19

AR
(5) IrgRd U=
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Which one of the following pair
(Country - Oil Field) is not correctly matched?
(1) Saudi Arabia — Ghawar

(2) Iran — Gachsaran

(3) Kuwait — Burgan -

(4) Traq — Qatif

(5) Question not attempted

Which among the following is a town of

Mesopotamia?
(1) Fostat (2) Kahun
(3) Erech (4) Thebes

(5) Question not attempted

“The table of nature is laid for a limited number

of guests and those who come uninvited must

starve.” Who gave this statement related to

population growth?

(1) Henry George (2) Thomas Robert
Malthus

(3) Thomas Doubleday (4) Thomas Sadler

(5) Question not attempted

Result of differential erosion are -

(A) Structural Benches

(B) Mushroom Rock

(C) Incised Meander

(D) Demoiselles

Code -

(1) (B) and (C) (2) (A)and (C)

(3) (A) and (D) (4) (B) and (D)

(3) Question not attempted

Match the following and select the correct

answer from the code given below -

Mining Area Minerals
(A) Akwali and Satkui (i) Fluorite ¢
(B) Rampura-Agucha (i1) Gold 3*
(C) Jagpura-Bhukia (iii) Limestone
(D) Mando ki Pal (iv) Copper
(E) Sabla—Lohariya (v) Lead-Zinc
Code - ' '

(1) (A)-Gv), B)-(v), (O)-(ii), (D)-(1), (E)-(iii)
(2) (A)-(@), (B)-(v), (C)-(iii), (D)-(ii), (E)-(v)

- ) (A)(ii), (B)-(1), (C)-(ii), (D)-(v), (E)-(iv)

@) (A)-(ii), (B)-(iii), (C)-(i), (D)-(iv), (E)-(v)
() Question not attempted

GET IT ON
Google Play

- FfaRead # 9 sFwT I (9 — dd &9) 98

guferd =gl 87

(1) Il 3RT — =R
(2) S — TEERA
@) gaa — T

@) RH — FAH

(5) SrgaiRa g

- F=faRaa § &9 s9ar S9N & TR 2

1) g
(3) g
(5) rgiRe oA

. ypRy € Ao D W B SRR B RRY

g ol g8 § ok 1 fomr gy weEH 8
SRERCERLIRICIINGE | I R s e i =
HaET Saa HoH fhaer 87

(1) 378 oiret (2) offee JFac Hreerd
(3) o9 SIS (4) orF Y Hsor

(5) srgaRa e

ﬁrﬁwwmqﬁw%—

(A) ST P difSH
(B) 3% f3rem

(C) rer:afda faad

(D) &

a-zd —

(1) (B) 3R (C)

(3) (A) 3R (D)

(2 (A) IR (©)
(4) (B) 3k (D)

(8) gaRa yeA
- f=foriad 1 gafera diforg qer e fag g
BT | FEl IR BN 9IT BTG —
G & [CIE]
(A) Ihdrell IR AaHs (i) TEREE
(B) THYRT—3ITT (i) &=
(C) SITYRT—{ferar (iii) AR
(D) /ST &1 qred (iv) afaT
(E) GacT—arsrRar (v) HrIT—STT
R o

(1) (A)-(iv), B)-(v), (C)-(ii), (D)-(3), (E)-(iii)
() (A)-(i), (B)-(iv), (C)-(iii), (D)-(ii), (E)-(v)
3) (A)-(iii), (B)-(1), (C)-(ii), (D)-(v), (E)-(iv)
(@) (A)-(ii), (B)-(iii), (C)-(1), (D)-(iv), (E)-(v)
(5) IR ye
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11.

12.

- (1) Anamalai
(3) Nallamala

13.

14.

Consider the following statements regarding
Carl Ritter -

(a) Teleological views :

(b) Anthropocentric view of geography

(c) Supporter of the Reine geography

(d) The concept of Landerkunde

Select the correct answer using the code given
below -

Code -

(1) (a), (b) and (d) (2) Only (a)

(3) (a) and (b) (4) (a), (b) and (c)

(5) Question not attempted

In which of the following hill range is
“Doddabetta peak” situated?

(2) Cardamom

(4) Nilgiri

(5) Question not attempted

Work related to entertainment and services is
known as -

(1) Secondary Occupation

(2) Primary Occupation

(3) Tertiary Occupation

(4) Quaternary Occupation ¥
(5) Question not attempted

Identify the marked part in the following

diagram of fault’s components and match it with
the list given below -

List -
(i) Throw
(ii) Dip
(ii1) Heave
(iv) Hade
(1) (A)-(iii), (B)-(i), (C)-(ii), (D)-(iv)
(2 (A)-(ii), (B)-(iii), (C)-(iv), (D)-(i)

) (A)-(), (B)-(ii), (O)-(iii), (D)-(iv)

@) (A)-(iv), (B)-(i), (C)-(ii), (D)-(iii)
(5) Question not attempted

11.

12

13.

GET IT ON
5 Google Play )

Plet ReX & g § fA=faRag oMl ™ fdaR
R P gRea
(b) BT AT~
(c) TS BT THd
(d) cieXde &I FqERoT
9 & T g B weEdl | Wal SR B
TIT BT —
@.—.
(1) (a), (b) 3R (d)
(3) (a) 3R (b)
(5) srgaRa ueA
e @l fFEfalRea § 9§ ®iE gda
sfel 4 Rerd 87
(1) r=THaTs (2) s

(@) Frafird

(3) SeaTmHTA

(5) 3xiRe ge

(2) Baet (a)
@) (a), (b) 3R (c)

ARG q Harell | gEfd R B S

ST B —

(1) fedme egaar
(2) grafies gqarg
(3) i =gaa
(4) Tgeds FaaE
(5) 3rgRa ue

- 99l & wued! $ fTAfaRed smw # sifed

(iv) S=184

(1 (A)-(iii), (B)-(i), (C)-(ii), (D)-(iv)
(2) (A)-(ii), (B)-(iii), (C)-(iv), (D)-(i)
@) (A)-(), (B)-(ii), (C)-(iii), (D)-(iv)
(@) (A)-(iv), (B)-(i), (C)-(ii), (D)-(iii)
(5) =ik U=

32 -

Page 4 of 32



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

15.

16.

17.

247

Given below are two statements, one is labelled
as Assertion (A) and the other as Reason (R).
Assertion (A): India’s export of finished steel
declined during the year 2024-25.
Reason (R): Low prices of steel in international
market resulted in low margins on
exports.
In the above context, which one of the following
is correct?
(1) (A) is false but (R) is true
(2) Both (A) and (R) are true and (R) is the
correct explanation of (A)
(3) (A) is true but (R) is false
(4) Both (A) and (R) are true but (R) is not
correct explanation of (A)
(5) Question not attempted
Which statements are true about Earth’s interior?
(A) Helps in understanding Earth landforms.

(B) Temperature rises with depth at the rate of
1°C/32 meter.

(C) Shadow zone of ‘S’ wave is less than ‘P’
wave.

(D) Meteorites that reach the Earth surface are
indirect source of information.

Code - :

(1) Only (B)and (D) (2) (B), (C) and (D)

(3) (A),(B)and (D)  (4) Only (A) and (B)

(5) Question not attempted

Match List-I with List-II and select the correct
answer from the code given below -

List-1 List-IT

(Book) (Author)
(A) Cosmos (i) Fleur
(B) Erdkunde (ii) Ritter

(C) Volkerkunde

(D) Corridors of Time
Code -

(1) (A)-(iv), (B)-(ii), (C)-(iii), (D)-(i)
() (A)-(iv), (B)-(i), (C)-(iii), (D)-(ii)
@) (A)-(ii), (B)-(iv), (C)-(iii), (D)-(1)
@) (A)-(iv), (B)-(ii), (O)-(1), (D)-(iii)

(5) Question not attempted

(ii1) Ratzel

15.

16.

17.

(iv) Humboldt

GET IT ON
Google Play

1 21 pud fau U € Th Bl BUA (A) IR
TR P BRI (R) S w4 ¥ i T 2|
P (A): TY 2024-25 P ERE IRT B AAR
| & fata # 9 eng |
BHRYT (R): IR I9IR § Il B $H HIFdl
B HRT AT BT A HH BT AT
IRIFT ded §, F=falaa § 9 Siar te ael
0
(1) (A) 7Tad 8 ofes (R) 981 &
(2) (A) @ (R) ST 98! & a2 (R), (A)ﬁﬂ@
AT &
(3) (A) & § dfdd (R) Tad 8
@) (A) @ (R) I |& & Afd (R), (A) B
TE ARAT T8 B
(5) srgaRa we
g@zﬁzﬁaﬁﬁaﬂmzﬁaﬁﬁaﬁﬂﬁiﬁmm
2
(A) qﬁaﬁﬁa@%ﬁfﬁrﬂ@ﬁﬁmm

(B) nma%wamm 1°Cf32ﬁhaa$ra-\r
I ggar 2|

(C) %sawa;rwaﬁ ‘P’ AN HH Bl

|

(D) YAl & RIAA W Ugdd drel Iedlivs
I B AYET A & |

W-

(1)EBEI'GI(B)Q€I(D)

(3) (A), (B)Td (D)

(2) (B), (C)|d (D)
(4) ®ad (A) TG (B)

(5) SrfaIRd weA

FA-1 B @1 | gafera HIg qen =

T Y g | WE ST BT T BRI —
-1 11
o) (@)

(A) PTHATH (1) Fo

(B) ISHS (ii) Rex

(C) AreHRRTS (i) Yol

(D) ®IRSI 3if% e1gq (iv) BT

a-,;a —

(1) (A)-(iv), (B)-(ii), (C)-(iii), (D)-(1)
(2) (A)-(iv), (B)-(i), (C)-(iii), (D)-(ii)
(3) (A)-(ii), (B)-(iv), (C)-(iii), (D)-(i)
@) (A)-(iv), (B)-(ii), (C)-(i), (D)-(iii)
(5) argaRa we

32-
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GET IT ON
Google Play

18. Simple linear arrangement of dots from right 18 Ues whex oM # TW Frel BN ¥ S a9
lower corner to the left upper corner in a scatter D4 a6 fdgall &1 wRa WRaw Fawen Mg
diagram indicates - Pl B —

(1) Perfect Correlation (1) I99 Heasa=

(2) Negative Correlation (2) =oTHS dEaEE

(3) Limited Positive Correlation (3) iy y=TcHs Teara=I
(4) No Correlation (4) B wEEE=T T8

(5) Question not attempted (8) Sg<Ra ue

19. In which year the Brundtland Report related to 19 Jaq givoiy e ¥ =g seos Rard
sustainable development was presented? fpa a9 uwga @ 7§ off?

(1) 1986 (2) 1985 (1) 19864 (2) 19854
(3) 1987 (4) 1988 (3) 1987 # (4) 1988 %
(5) Question not attempted (5) argaRa wea

20. Who among the following Scholar clearly 20. fo=ifeiRaa # @ fbw fAgm 3 By 9T ©
described the “Great Highway from Susa to g | ISH % & WM AR B W
Sardis” of the Persian Empire in his book? wY Y Ui O gD | fhar?

(1) Herodotus (2) Hecataeus (1) sew (2 Tofemw
(3) Eratosthenes (4) Anaximander (3) WerRIAw - (4) THTRIHSY
(5) Question not attempted (5) IrgaRa ued

21. Chambal 65 and Mangla are high yielding 21. TFdl 65 T HTeT Joq SUS S arell b &
variety seeds of - : del § — '
(1) Bajra (2) Jowar (1) IoRT B (2 wR &

(3) Rice . (4) Wheat ;!.J - 3) a@d & @) g >
(5) Question not attempted N (5) IFgTRT T
22. Which one of the following statement is not = 22. f=ifeiRag ¥ PIwT B | 8 272
correct? (1) o oRETT & fer o ¥ W
(1) Madri dam was constructed in second phase @1 ot b |
(2) g}fo];:‘:?aﬁazt;:onstmcted in first phase of L8 LRIRIRE |
Dewas project. il ﬁ-qf:: E%GT ek

(3) Dewas project has emerged as the lifeline of (@) <are 9% 1. 9151 Y, X
Udaipur. SAAEY '

(4) Chandlai dam was constructed in third phase (4) <o gRETST & e =RT H TSl dfe
of Dewas project. &1 fmtor fabar T |

(5) Question not attempted (5) IgRa v

23. Among the following which district have density 23 J[STeI= # 2011 B ST & AR, e
-of population less than 100 in 2011 Census in 49 59 e &1 o9 'ba 100 9 9
Rajasthan? 27
(1) Churu (2) Pali 1) g% () areit
(3) Barmer (4) Jodhpur (3) IreiR (4) SergR
(5) Question not attempted (5) srgaRa ue
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24. From given points related to rocks, select the
correct statements from the code given below -
(A) Igneous rocks are primary and crystalline
rocks.

(B) Loess is a sedimentary rock and is
crystalline.

(C) Marble is a metamorphic rock.

Code -

(1) Only (B) and (C) (2) (A), (B) and (C)

(3) Only (A)and (C) (4) Only (A) and (B)

(5) Question not attempted

25. Which among the following countries has the
highest iron ore (crude) reserve in year 2022 as
per US Geological Survey Report 20247
(1) Brazil (2) Russia
(3) Australia (4) India
(5) Question not attempted

26. According to Malthus, which of the following
factor is/are responsible for population control?
(A) Postponement of marriage
(B) Artificial means of family planning
(C) Natural disasters ‘
(D) War and famine
Code -

(1) (A) and (B) (2) (A), (B), (C) and
(D)

GET IT ON
Google Play

24. Fg[l | gt Ry 1y fawgel § 9, = A
nﬁaﬁﬁﬂﬁzﬁaﬂ‘rzﬁiwﬁm
(A) AT T2 TS 9 WeR Tgr e §|
(B)giﬂﬂwmﬁﬂgﬂﬁaﬁ?waﬁ’r

1

(C) HTHR®R U HIAT=IRd IS 8 |
R_
(1) aq (B) T (C) (2) (A), (B) T (C)
(3) dad (A) AT (C) (4) Haa (A) e (B)
(5) srgaRa e

25. ga 159 (3ARPI) wderr R 2024

CUIEED
@ FPER a9 2022 § (Al § 9 fbw w
H SIg 3G (=) Pl ARHaH HSR 27

(1) sTeitet (2) w49
(3) affeeferar (4) 9a
(5) Srg<IRa W

26. frfafeg # 9 BT/ A © UK,
ST fEE & fou SaRerll aR® § /87
(A) faare w-rME

(B) uRaR e & M |rH

(C) WTpfaiep 3MI=TY

(D) g?-a' Tq YAl

(1) (A)sﬁ‘\f(B) (2 (A), (B), (C)3R (D)

(3) Only (A) (@) (A), (C) and (D) @) Baa (A) @ (A), (C) 3R (D)
(5) Question not attempted (5) srgaRa s
27. Debris controlled slope is called - 27. Jorq7 A3 o1 FEaTr & —
(1) Freefaceslope  (2) Rectilinear slope (1) g g <1 (2) w1 W& e
(3) Convex slope (4) Concave slope (3) ST @It (4) 3aad aret
(5) Question not attempted : (5) SrgilRa ue
Absolute humidi . .
20, ApSOMENMIIAY » 100 is called - 28. —ﬁ $ x 100 PEAT & —
(1) Relative humidity (2) Absolute humidity (1) |nfdes smear (2) FRUe smgan
(3) Specific humidity (4) Saturated air (3) RIRre amear (4) Hgw a1y
(5) Question not attempted ;-'_lﬁi (5) 3rgxRea ueH
29. Choose the correct statements - .29, |8 HUAI DI gAY —
(A) Punjab and Haryana are traditional rice (A) UoTTE 3R ERIN URuR® A SRS
growing areas. & B |
(B) In Himalayan Highlands, wheat is a rainfed (B) g, fRwrerm @7 S=n{fiEi § aul smenRd
Crop. A B |
(C) Tea plantation started in India in the decade (C) YR § 91 0T P oM 1840 P TIAD
of 1840. g
Code - o —

(1) (B) and (C) (2) (A) and (B)
(3) (A),(B)and(C) (4 (A)and (C)
(5) Question not attempted

(2 (A)Td(B)
@ (A)TE ()

(1) (B)Td (©)
() (A), B) W@ (C)
(5) SrIRT U

32-E
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30. While calculating Human Development Index,

31.

32.

33.

weightage given to its different dimensions is -
(1) (2)

(3) (4)
(5) Question not attempted
Match the following and select the correct
answer from the code given below -
Agro-Climatic Zone Soil Type
(A) Arid Western Plain (i) Brown Red Rocky
(B) Irrigated North-West (ii) Black
" Plain
(C) Sub-Humid Plain (1i1) Dark Red Rocky
(D) Humid Southern Plain (iv) Sandy
(E) Humid South-Eastern (v) Alluvial
Plain
Code -
(1) (A)-(ii), (B)-(iii), (C)-(v), (D)-(i), (B)-(iv)
@) (A)-@v), B)-(v), (C)-(i), (D)-(iii), (B)-(ii)
@3) (A)-(iii), (B)-(v), (C)-(i), (D)-(iv), (B)-(ii)
@ (A)-@), (B)-(iii), (C)-(iv), (D)-(ii), (E)-(v)
(5) Question not attempted
Sura Ghatisa _(A) located in _ (B) .

(1) (A)-pass, (B)-North Eastern Aravalli

B || =
Vi

(2) (A)-plateau, (B)-Southern Aravalli

(3) (A)-peak, (B)-Central Aravalli

(4) (A)-pass, (B)-Central Aravalli

(5) Question not attempted

Which among the following is/are the

fundamental argument/s of the Behavioural
Geography?

(A) People have environmental images in their

mind.

(B) Those images can be identified accurately
by researchers.

(C) There is no relationship between
environmental images and the decision-
making process of man.

Select the correct answer from the code given

below -

Code -

(1) (A) and (C) are correct

(2) (B) and (C) are correct

(3) (A) and (B) are correct

(4) Only (A) is correct

(5) Question not attempted

31.

32,

33.

GET IT ON
Google Play

— —
Gy -
~ o~
Il
J | AL
arred
o b |
— —
= N
S S
NniRrw|Ek

f=ferRaa &1 gafora IRve o i ke 1y
6 ¥ HEl IR B FI9 BITY —

PR—Targ U fiedt &1 yeR
(A) I Uf¥erfl A (i) I ol gce™T
(B)?ﬁ;ﬁlj TIAR—fTH  (ii) Preil

(C) SU—3Ts Ha™ (iii) T AT e
(D) 3ms <faol e (iv) Xefiel

(E) 3 Zferor—qdi #1 (v) Siele

aé'\e =

(1) (A)-(ii), (B)-(iii), (C)-(v), (D)-(i), (E)-(iv)
() (A)-(iv), (B)-(v), (C)-(1), (D)-(iii), (B)-(ii)
(3) (A)-(iii), (B)-(v), (C)-(i), (D)-(iv), (E)-(ii)
@) (A)-(1), (B)-(iii), (C)-(iv), (D)~(ii), (E)-(v)

(1) (A)—==T, (B)—SoR—gdl SRl

(2) (A)—ueR, (B)—<ferfl R

(3) (A)-RrER, (B)—¥eT IRTqel!

(4) (A)—==t, (B)—7ea IRTaeil

(5) SrgaiRa g

FaERal i &1/& Fefafeag § @

DITH /BN JATIRYT T 8 /87

(A) afdmal & 99« H ey ufafesw 2
gl

(B) T¥ ufafawi &1 weraaiell gRT uRyedr
I UBEET O Hahell B |

(C) ararexeim ufafewt 9 aafda & fAolg o=
&I ufehar ¥ = 8T BT 2|

1 U 7T ge W HE SR BT 94T BIRY —

a? £

(1) (A) @21 (C) U8 &

(2) (B) q2m (C) 9eY &

(3) (A) 7T (B) W& &

(4) Bad (A) 8T B

(5) Srg=iRa U

32
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The main cause of existence of Doldrum belt is -
(A) It lies in cold regions

(B) High temperature and low air pressure

(C) Wind is calm here most of the time

Select the correct answer from the code given
below -

Code -

(1) (B) and (C) are correct

(2) (A), (B) and (C) are correct

(3) Only (A) is correct

(4) (A) and (B) are correct

(5) Question not attempted

Consider the following statements and select the
correct answer from the code given below -

(A)

Plateau of India.

(B) Iﬁdian_desert region was under sea during
Mesozoic era.

(C) Eastern Indian coast is favourable for
development of port and harbour.

(D) Ritchie’s Archipelago is in Arabian Sea.

Code -

(1) B),(C)and (D) (2) (A)and (B)

(3) (B) and (C) (4) (A), (B) and (C)

(3) Question not attempted

Which of the following is not correctly matched?

(1) Erosional Landform formed by Glacier -

Nunatak

(2) Depositional Landform formed by wind -
Inselberg

(3) Erosional Landform formed by wind -
Yardang '

(4) Depositional Landform formed by Glacier -
Kame

Karbi Anglong is a part of Peninsular

34.

35.

36.

ammng
e s
":'I":

GET IT ON
Google Play

(A) Uz ove yout H Rerg & :

(B) S AI9EE dT <gd a1g I

(C) TET SUTEIR dary Iid Y&

T faT Ty g ¥ e SR BT g9 DY —

‘qz\?'_

(1) (B) @1 (C) &Y &

(2) (A), (B) @ (C)weT &

(3) Pad (A)FEl ©

(4) (A)Tem (B) W& B

(5) Sr<IRa U=

fer=faRaa wemi R IR i ger = fag

T G BT STINT Fd Hal SR B Fgo

DI —

(A) FHET AFNTATT 9Rd $ UGG U8R &I
T 21

(B) WINIE® T & THY AR Ao &
S @ A o7 ‘

(C) q@l 9RAE ¢ UIE g BeR @ fAdr &
forq st B |

(D) R EI0FE 3RT PR # |

a-z\e_

(1) B), (C)va (D)

(3) (B) W@ (C)

(5) ST ue

fafaRea & & siFwr gafera w81 &7

(1) B g1 T RS -8NP —

(2 wgg gxr e f[afa gemefa -
ERiCL

(3) yg9 gRT T IR P —
RS

@) e grT T Faftd q—emefa — o8

(2) (A)Ta(B)
@) (A), B)TE(C)

(5) Question not attempted (5) JraRa u=
37. Who has considered boundaries as “Political  37- e WHwRIl &1 "ISHIIS THIR @RI B
TIsobar lines”? [HF AT 27
(1) Lord Curzon (2) J. Ancel (1) & B (2) . T
(3) A.E. Moodie (4) F.Ratzel 3) T3 7= 4) U®. e
(5) Question not attempted (5) IreiRa ue
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The correct group of Geographers who

contributed to the development of Unified Field

Theory is -

(1) S.B. Jones — Cohen — Richard Moore —
Carlson :

(2) S.B. Jones — D. Whittlesey — Hartshorne —
Gottman

(3) Thayer Mahan — Mackinder — S.B. Jones —

Spykman
(4) Demanzia — Karl Haushofer — Ratzel —
Kjellen '
(5) Question not attempted
The midterm objective of National Population
Policy 2000 is to bring Total Fertility Rate
(T.F.R.) to the replacement level of -
(1) 2.1 children per woman
(2) 1.8 children per woman
(3) 2.3 children per woman
(4) 2.0 children per woman
(5) Question not attempted

38.

39.

GET IT ON
Google Play

&3 THHudl Ngid & gfaures H H8anT &

qrel A3 BT HEl TE & — |

(1) a4l S — BT — Ras ] — FreiaA

(2) T 9 — . fecod — wedd —
Titedq

(3) arR w'eE — HfPvsy — I S —
WIS HHT

(8) SHIfSTAT — FIet BIRIGR — Yeuld — Porad

(5) srgiRa ueA

MY ST FIfd 2000 & FeTBTellT oed b
IR, |l Uoi X (T.F.R.) T b ufcremy=
R TF AT 8?

(1) 2.1 Ry ufa wfgen

(2) 1.8 Ry ufy Afgen

(3) 2.3 Ry ufa Afgen

(@) 2.0 f3rg ufa =feen

(5) SrgmiRa U

40. Steep slope of V-shaped valley is an example of-  40- §—3MBR BT T BT WS Tl SEET & —
(1) Tertiary slope (2) Primary slope (1) gfasd g &1 (2) I et &1
(3) Quaternary slope (4) Secondary slope (@) agd®s 1A BT @) fgdias o1 @
(5) Question not attempted (5) SR U

1. According to Census 2011, the states with 41 SFRIOMT 2011 & SRR, R ¥ HHL: ATH
minimum and maximum population density in g AfSrpad STHEEIT g9 9l ¥og & —

nachal Pradesh and Bihar @) e

(2) Arunachal Pradesh and Kerala ; :
(3) Nagaland and Maharashtra ©) QEI W
(4) Mizoram and West Bengal (4) fasiRe vd aRem e
(5) Question not attempted (5) SR Ue

42. In upper air, inversion of temperature of trade ~ 42- HUW 1Y #, YRS Gl & A JHAY
winds are generally associated with - HERUG: 9 8l & —
(1) Downward movement of Jet streams in (1) Sw1 fesd &=l § oic grpi & 9" 3

tropical regions AR THA |
(2) Warm cyclones of tropical and sub-tropical ..., (2) ng AT IUIWT BicTeg &=l & T4 Fgharal
regions

(3) Warm anti-cyclones of tropical regions L (3) sor ofeddim &5 & T yRyemandt @
(4) Movement of cold air on warm air (4) ¥ ARl © HUX 3! gARN & THT J
(5) Question not attempted (5) gIRa U=

43. ‘Desertification and Land Degradation Atlas of ~43- "R & FORUAIGRT Td YA s
India-2016’ has been published by - UeeTd—2016" &1 YheH fhdad grT fohar ar?
(1) NATMO (2) CAZRI (1) NATMO (2) CAZRI
(3) ISRO (4) NRCAH (3) ISRO (4) NRCAH
(5) Question not attempted (5) IrxRd U
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44. The following climate diagram of Winnipeg city

represents =
70
o % m
50
R -
. AY %0 o
f 30 3
S 0 B
E 10 =
= -
& 0 g
= ®
T —
= 3 -
3 2
2
1
0

IFMAMI] JASOND

MONTHS

(1) Middle-Latitude Steppe Climate
(2) Low-Latitude Steppe Climate
(3) Mediterranean Climate

(4) Middle-Latitude Desert Climate

GET IT ON
Google Play

44. fIFTIT 2R &1 Fr=IfRad STefaryg IR qhic
3 _

Zsvamual
50
40
30
20

10

0
10

(do) bellshiD

aut (g9)

O NW s

JFMAMJ JASOND

wE
(1) #er—gei < Saary
@) sy wd Seary

(5) Question not attempted (5) 3R ye
45. Halocline zone is related to - 45. BAIglST HUSel Pl Gae & —
(1) Air pressure (2) Salinity (1) ag <9 9 (2) Fqorar |
(3) Temperature (4) Density (3) TIHE ¥ @) oa ¥
(5) Question not attempted (5) IrgaRa we
46. When was the first National Population Policy of ~ 46. WRT &1 Yo 1T W= Ny &9 s+
- India formed? AT 217 :
(1) Year 2000 (2) Year 1972 (1) = (@) 2000 (2) |7 (ad9) 1972
(3) Year 1984 (4) Year 1976 (3) |+ (ad) 1984 (4) | (a¥) 1976
(5) Question not attempted (5) 3R usH
47. The correct group of States of India situated 47 RIHR &) SFARTET W & AT oY gU WIRd
?"I)ong the International border of Myanmar is - e X ] TE & —
Arunachal Pradesh, Nagaland, Manipur and q <
. & i (1) Srevaet e, RIS, ARTGR vd ke
(2) Meghalaya, Manipur, Tripura and Assam (2) Herrera, ARYR, BrgRT vd aH
(3) Assam, Arunachal Pradesh, Nagaland and (3) 3, STBUITEE U, AMAvS U AR
Manipur 3 o
(4) Nagaland, Tripura, Manipur and Mizoram 2 7, YIS g
(5) Question not attempted (5) srgafe g
48. Which of the following ocean current system 48 gféyfi sreaifed #errR @ f=falad & 9
sequence of South Atlantic Ocean is correct? ST FYE TRT Ui &7 A Fal 57
(1) South Equatorial Current - Benguela Current _.I:f I =(1) <o meEE aRT - e ORT —
- Brazil Current - West Wind Drift ¥ FRid gRT — giEE 9 vaE
(2) West Wind Drift - Brazil Current - Benguela (2) ul¥=Hl 9] ydE — Soflel ORT — Ul
Current - South Equatorial Current gRT — & TIW’%@II &RT
(3) Benguela Current - Brazil Current - South (3) Suar  grT gl 9RT — g
Equatorial Current - West Wind Drift THERE gRT — uf¥adl 9y yars
(4) South Equatorial Current - Brazil Current - @) <feror YHERE gRT - dNid 9T —
West Wind Drift - Benguela Current U 9r] UaE — dUal SR
(5) Question not attempted (5) araRa we
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49. National Technical Textile Mission is associated ~ 49- I detel 7 AeE fhad Hafta 87

with - (A) Q—;héa;
(A) Agrotech (B) WETEH
o O e
(D) Meditech (D)
~ Select the correct answer from the code given RlER LY 6 H WE SR BT FI9 HIfog —
below - & —
e 2t i - (1) 39 (A), (B) T (C)

(1) (A), (B) and (C) only
(2) (B) and (C) only
(3) (A) and (D) only

(2) daeT (B) Td (C)
(3) ®ad (A) Td (D)

(4) (A), (B) and (D) only (4) 33 (A), (B) T (D)
(5) Question not attempted (5) srgaRRa ue
50. Vilas and Lasi are tributaries of - 50. fderry qT AR e Afedl § —
(1) Chambal (2) Parvati (1) =get B (2) grEh @
(3) Kalisindh (4) Kothari (3) pretl g @t (4) PO B
(5) Question not attempted _ (5) argRa ue
51. Consider the following statements - 51. famfofad ol ) faR e —
(A) Both Loamy and Clay soil types are found (A) 39H DT 9 ST SFI YHR Bl gaT fHerd]
in it. gl
(B) This soil has the ability to hold moisture for (B) 39 HaT # T Mf¥F HHY TH RO B
a long time. DI eTHAT BT ¢ |
(C) This soil is found in Bhilwara, Ajmer, (C) FE waT ¥ioare], R, RRE el 3
Sirohi districts. s e 21
On the basis of above statements identify the IUNTT HUAT B IR G ISR DI g1 Bl
type of soil in Rajasthan - ELps UBR Ay —

(1) Red-Yellow Soil ~ (2) Medium Black Soil £<2% (1) sra—diat GE (2) Hezr prelt HaT

(3) Red-Loam Soil ~ (4) Alluvial Soil (3) e gaT (@) e HaT
(5) Question not attempted - (5) argaRa A

52. Which one of the following pairs is correctly 52 famfaiRad # ®Hd I W& Yafera 27
matched? : (Rieng ufRarer) (fotem)

(Irrigation Project) (District) (a) ar £ Ud9TTe

(a) Reva - Pratapgarh (b) w&TE e EIEd]
(b) Lhasi - G Baran (c) qﬂaﬁf forge — TS
(c) Folai Lift - Jhalawar (d) BEIER e — %ﬂ'cﬂ'\'
(d) Kaliteer Lift - Dholpur I RY MU e @ GEET ¥ 98 IR S
Select the correct answer using the code given T HRTT — L
below — =
Code - 2
(1) (b) and (d) (2) (b)and (c) M) (b) iR (d) @ (b) 4R (c)
(3) (a), (b) and (c) (4) (a) and (b) @) (a), (b) ¥R (c) (@) (a) 3R (b)
(5) Question not attempted (5) srgaRa wed
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53. Height of a tripod stand in Plane Table Survey 53 w9 2qal wderor ¥ fue Ws & &8 & —
is - (1) o 1.75 e
(1) Approx. 1.75 meters (2) ST 1.50 Hiex
(2) Approx. 1.50 meters ST
(3) Approx. 2.00 meters g; igg g?q
(4) Approx. 1.25 meters ST L,
(5) Question not attempted ®) 3'35”&' =
54. The first master plan was prepared for whichcity ~ 54- WRA # UM AReX @ f&¥ &R & oY TR
in India? fear Tar?
(1) Mumbai (2) Chennai (1) ﬁ’%l’s‘ (2) o3
(3) Delhi (4) Kolkata (3) feeett (4) reTebIaT
(5) Question not attempted (5) Sr<IRd ue :
85. Which among the following river is most 55 fmfeRad # & Sl 7T HaifS wgfva &7
ao)lluted? : (1) e (2) =g
Godavari Yamuna
(3) Brahmaputra (4) Satluj o gl
(5) Question not attempted (5) SrgaRa wed
56. In asymmetrical frequency distribution, the 56. g gReIRar faarer § ¥R "rT (X),
correct f_ormula to express the relation btetween qgAAD (Z) T HIfRgeBT (M) R e o S g
?Srl_thmetlc mean (X) , mode (Z) and median (M) R B G T & ;
(1) M =222 (2) Z=2M-3X (1) M:%ﬂf_z (2 z=2M-3X
@ Z=3M-2X @4 x=22 @ z=3M-2X @ X=232
(5) Question not attempted (5) (ﬂﬂﬂ'ﬁﬂ U
~57. Which among the following pressure belts have  57. fa=ferRad # 9 f=1 Tama ufeat & fHsior waen:
been formed due to dynamic and thermal factor.s“, o Ut ar 99 FRGT 9 B3 27
espectryely ! £EE (1) Ul Te qer gdT v
(1) Sub-tropical high and polar high L @) SwpEr fre qon SowTsReT I=
(2) Sub-polar low and sub-tropical high ' 3) E
(3) Polar high and sub-tropical high (3) g ==l T SUTHICIIT =
(4) Equatorial low and polar high (4) s 1 qor g =
(5) Question not attempted (5) STFIRT W
58. Match List-I with List-II and select the correct 58 F&—| & FAI—Il & I FAferd dx AR
“answer from the code given below - fau 77 G § 9§ HE IR BT TIIT PN —
List-I List-II - -
(Candolle Plant (Koppen Climate (@vere BT aeefa (@1 BT Seraryg
Classification) Classification) Tefiavon) FefTamvon)
(a) Mesotherms 1 A (a) BT (i) A
(b) Megatherms (ii) B (b) HTTRH (ii) B
(c) Microtherms (iii) C (c) ATSshrerH (iii) €
(d) Xerophytes (iv)D (d) SRI®TSE (iv) D
Code - : @wE —
(1) (a)-(iii), (b)-(iv), (c)-@), (d)-(ii) (1) (a)-(iii), (b)-(iv), (c)-(), (d)-(ii)
(2) (a)-(ii), (b)-(i), (c)-(iv), (d)-(iii) (2) (a)-(ii), (b)-(Q), (c)-(iv), (d)-(iii)
() (a)-(ii), (b)-(iv), (c)-(1), (d)-(iii) (3) (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii)
@) (a)-(iii), (b)-(0), (c)-(iv), (d)-(ii) (@) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)
(5) Question not attempted (5) arg=iRa ueA |
32-
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59 Which of the following Landform is not formed ~ 59- fy=ifeiRaer % & SR sl vafRa wer
by running water? g fAffa =gt 82 '
(1) Tarn Lake (2) Plunge Pools (1) = =ha : (2) gafg Hove
(3) Canyon (4) Gorge (3) B (4) it :
(5) Question not attempted (5) srgaRa wed
60 ‘Which of the following school of thought is also 60 fy=ifeiRac # @ e faRERT & “—g%0 B
considered as ‘Biography of the landscape’? Sila aRa’ WY |E1 ST 27
(1) Positivism (2) Existentialism (1) ygerars. (2) Rdear
(3) Pragmatism (4) Realism (3) Sezgarg (4) Zerrefarg
(5) Question not attempted (5) srgailRa u=
61. As per Weber’s Least Cost Theory, if both the  61. qar & g% @rTd Rigia & IR, Ife <=
raw materials are away from market at a fixed P Hiol 9ok o R, fftaa = w® gra 8
place and both are pure, then the industry shall & 3R <91 g & 1 SN B e enfy —
puuic- _ (1) = e & Frape
(1) Near raw material | (2) 2T (@R T T A B P
(2) Both (near market and raw material) @) SRR 3
(3) According to location-triangle SR
(4) Near the market @) IR B Fae
(5) Question not attempted (5) SRR o=
62. Who among the following supported Stand-Still ~ 62 famforRad # & fpa ¥ge o ¥ uRadq w®
Theory of coral reef formation with emphasis on SR oo gU Udlel fafer F*WIFUT 3 Rer <erel
change in sea level? freia o1 a9 faar?
(1) Oliver (2) Daly Sasr (1) anferaR (2) i
(3) Murray (4) Darwin Eﬁ%‘i (3) 7 (@) sifd=
(5) Question not attempted i 28] (5) gaiRe uw
63. Which one of the following is not an approach to 83 f=ifeiad % & ®F=1 U@ AFa e @
Human Geography? ' SUTTH 78l 87
(1) Spatial Organisation (1) enfae Hireq
(2) Regional differentiation (2) &g foves
(3) Map Projection (3) \rfRE yagor
(4) Postmodernism in Geography () e H SR SmIwaras
(5) Question not attempted (5) srgaRa g
64. According to the Rajasthan Forest Report 64 I[GIeI 99 URdG 2023-24 & 3IER, Hel
2023-24, the descending order of the districts of 3MMepferd a= & 99 2021 $I gfe | IoRA
Rajasthan in terms of total forest area of year B 7] &7 IR FH E —
2021 assessment are - (1) yaTTTE — ISR — AR — IRi
(1) Prat'flpgarh—Udalpur— Alwar — Baran (2) TTIR — AR — TG — AR
(2) Udaipur — Alwar — Pratapgarh — Baran @) _ SR — AR} — TR
(3) Pratapgarh — Udaipur — Baran — Alwar : :
(4) Udaipur — Pratapgarh — Baran — Alwar ) Seagy s S
(5) Question not attempted (8) srgaRa s
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65. The ‘Baroque style’ was related with -
(1) Agricultural system in Medieval European
Cities.
(2) Urban planning in Ancient Nile Valley
Cities.
(3) Urban planning in Medieval European
Cities.
(4) Agricultural system in Ancient Nile Valley
Civilization.
(5) Question not attempted
66. Which of the following objectives is/are related
to the New Population Policy-2000?

65.

66.
.---p. FIA—2000 ¥ HafRT & /87

GET IT ON
Google Play

IRIS YoTTell’ arfRaa off —

() #7eggifa Rd R A SN ugfa 9|

(2) et 7 TS S e TR A TR R
H

@) Femg e WY TR 4 TR e )

@) e e 7 = ¥ B uefy )

(5) S<IRd UeA

fefaRaa & & ®F /9 deg 198 SHEE

(A) To provide compulsory education to ZF% (A) 1499 9% & dodi DI Afad Brm ue™

children upto 14 years of age:

(B) To - reduce pregnancy related female
mortality rate to less than 100 per lakh.

(C) At least 80% of births should take place
within hospital premises.

(D) Bringing the total productivity rate to the
replacement level of 2.1.

AT |

(B) e ¥ |eafd Afeel ggax $1 100
- gfd AT | BH BT

(C) F1 | ®H 80% -1 @I fafbcaradl &1
oRfr § = BT |

(D) {T SURHAT & B 2.1 T FirengT ®R
TS T | '

Code -
(1) (A), (B), (C) and(®) (B), (C)and (D) R ~
D) (1) (A), (B), (O) R (D)2 (B), (C) 3R (D)
(3 (A), (C)and (D) (4 Only (D) @) (4),(©) D) (@) P (D)
(5) Question not attempted (5) srgaiRa weA
67. The propounder of “Stop and Go Determinism” 7. “Ta@1 3R e fafiae’ @ ufyues o —
was - i,
(1) E. Huntington (2) E.C. Semple R b B
(3) Griffith Taylor (4) L. Febvre @) fafther SR @) Td. R
(5) Question not attempted (5) srgaRa wee
68. If the statement of scale is 1” = 2 Furlongs, then ~ 8. If¢ HemTcH® AMUG 17 = 2 BT B AT 2,
what will be the R.F.? ar gfafafer =1 (R.E.) 8 —
(1) 1:16000 (2) 1:14000 (1) 1:16000 (2) 1:14000
(3) 1:15240 (4) 1:15840 (3) 1:15240 (4) 1:15840
(5) Question not attempted (5) argaiRa ue
69. In India, thematic maps are prepared by - 69. YR ¥, fdwgs Al fdas gRT R g
(1) Remote Sensing Agency, Hyderabad S &7
(2) Thematic Mapping of India g: fare m@ g%?ﬂg s
(3) Survey of India il
fis NAT;O (3) 9l |eror fammT
(4) FTeHr (NATMO)
(3) Question not attempted (5) SrARa e
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70. Which among the following is/are correctly

matched?
Theory of Dellmltatlon - Propounder
of Umland
(A) Interaction Model - H.C. Carey
(B) Law of Retail Gravitation - P.D. Converse
(C) Breaking Point Theory - Reilly

Select the correct answer using code given
below -

Code -

(1) Only (A) (2) (A)and (C)

() (A),(B)and (C) (4) (B)and (C)

(5) Question not attempted

GET IT ON
Google Play

70. fofeigd & & ®i=ar /| gafera 8 /&2

TS D YHIDA — yioures
&1 Rigia
(A) sr:fepar ot — AL DY

(B) BeR Toaidnl e — WML Siad
(C) et fawg Rigia — el

Al QU T g P U B FE SR B
T DY —

ﬁ —

(1) Bae (A) (2) (A) T2 (C)
@) (A), B)TT(C) (4 (B) Ta1(C)
(5) srgRa wes

71. According to Weber’s Least Cost Theory, the = 71- qav & ~7aH @NTd Rigid & SR, "5/ @RI
formula of ‘Labour Cost Index’ is - gAPIh BT G & —
(1) Total weight of raw material + Labour cost (1) o= garef &1 Fel ¥R + 59 aFTd
(2) Total weight of product + Labour cost () Saifed ax] &1 {a R + 5 AN
(3) Labour cost + Total weight of raw material (3) 5/ AN + P gerR b1 fol WR
(4) Labour cost + Total weight of product (4) sm arTd + ST a%g @ B IR
(5) Question not attempted (5) gRa ue
72. Which of the following Geographer/s isfare 72 fmifoRad & &  ®iFmr/9 e
=== associated with the ~  Principle of THwRUdEE @ Rigia 9 ged 8 /87
55’1‘,‘_ Uniformitarianism? o
(A) Hutton
(B) Playfair (B) RTHIR
(C) Lyell (C) oidet
Select the correct answer from the code given A 3T T He | FEl SR BT IIT BINIY —
below - e — ‘
((1:;“1(:) and (B) only  (2) (A) and (C) only § s Ayl B9 7 )
(3) (A), (B)and (C) () Only (A) @) (A),B)TA(C) ) DI (A)
(5) Question not attempted (5) srgaed 7=
73. Which among the following races are having  73- ToR & IaR, fym=foRad § I HI==f womfeat
cephalic index more than 75 as per Taylor? 75 9 31O RRE ga@id Wi 87
(A) Nordic (A) FifS®
(€ Ausctoic i
ustraloi by
(le) Atlli;ne t from the cod :;)) ¢l
beelzsv_ e correct answer from the co cglvcn o SR T e
Code - ae —
(1) (A),B)and (D)  (2) (A)and (D) (1) (A), (B)Tem (D)  (2) (A) T (D)
(3 (B),(C)and (D) (&) (C)and (B) (3) (B), (C)TT (D) @ (C)aT (B)
(5) Question not attempted (5) eﬂﬁﬁﬁ g
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J—¥iger / waReIfa & e § fFrafaRaa 4 4

74. Which among the following statement is correct ~ 74-
regarding isostasy? BITHT HUF TF 87
(1) Pratt’s theory was based on Law of (1) e &1 fasia waq @ 99 9= e o |
Floatation. _ 2 v Yc & | & <R Bfoarr wE
(2) During A. Pratt’s survey, the gravitational SRR & 4 Toereyu F 3R 10
deflection between Kaliana and Kalianpu JAdve § e o
% was above 10 seconds. ; '] @) U ¢ B R IRE BREET a9
During A. Pratt’s survey, the gravitationa m WW e
deflection between Kaliana and Kalianpur Save Eﬁ:? erla H e 1
was below 10 seconds. q
(4) Pratt postulated that ‘Bigger the Column @ ¥e @ Ao P W A S
postulated tha gg ;
Greater the Density’. B, B S SAfer E
(5) Question not attempted (8) SrgefRer we :
75. Match List-I with List-II and select the correct 75 &I~ B Il & AT FAferd Y AR =
answer from the code given below — feu Ty Eas ¥ HE SR BT AT BN —
List-I T
(Type of Faults) wT- CHET TPT)
(a) Sinistral Fault L.ﬂ (a) RafRga g
(b) Reverse Fault 2 (b) gopH U
(c) Normal Fault (c) =T 49
(d) Dextral Fault (d) SeIgel U
List-IT -
(Displacement of Rock blocks) @ Guel &1 faveE)
(i) In opposite direction (i) faoda feem #
(ii) Occurs to the left side of the fault plane (i) ¥ T B I} IR BT B
(iii) Towards each other (iii) TF T & AFT—AEA
(iv) Occurs to the right side of the fault plane (iv) 99T 9 & ST IR 81T &
Code - ®T —
(1) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii) (M (@)-(iv), (b)-(iii), (c)-(1), (d)-(ii)
(@) (a)-(ii), (b)-(), (c)-(iii), (d)-(iv) (@) (a)-(ii), (b)-(), (c)-(iii), (d)-(iv)
() (a)-(iv), (b)-(), (c)-(iii), (d)-(ii) B) (a)-(iv), (b)-(), (c)-(iii), (d)-(ii)
@) (a)-(ii), (b)-(iii), (c)-G), (d)-(v) (4) (a)-(ii), (b)-(iii), (c)-(), (d)-(v) £
(5) Question not attempted (5) IR u
76. Currents produced by a tide while passing 76- R ERI S YRN T STTSHBHE AAd]
~ through a Strait or Gulf is known as - ' Qe ¥ Toidl &, Al Sl okl & —
(1) Tidal Volume (2) Tidal Bulge (1) SOR™ emaa+ (2) SO SER
(3) Tidal Race ~ (4) Tidal Range (3) SR g (4) a3
(5) Question not attempted (5) argaiRa e
77. Maximum area of district Bharatpur and Alwar ~ 77- “RAQR Td 3fcfar f7el &1 A 9rT fobe
lies between which isohytes? aHayt @Rl @ "eg Red 27
(1) 600 —700 mm (1) 600 - 700 fyefrHex
(2) More than 800 mm - (2) 800 fHeiHes & Tferd
(3) Less than 600 mm (3) 600 frei™ier | @A
(4) 700 — 800 mm (4) 700 — 800 fAciHeR
(5) Question not attempted (5) Slﬂﬂ'ﬁﬂ LT
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GET IT ON
Google Play

78. ffeRad # 9 g o § afdat & are s

during winters? E‘t_.?:f 14
(1) West Bengal (2) Kerala = (1) of¥Ew T (2) axa
(3) Andhra Pradesh  (4) Tamil Nadu (3) 3m=r yew 3) afferrg
(5) Question not attempted (5) rgaRa uee
79. Who said, “The use of soil for house and roads  79- fa= @81, "“HHM 3R Tl & forv B @
is unproductive”? : YN JUTED 87
(1) Vidal de La Blache (2) E.C. Semple (1) fasre S o = (2) S J9a
(3) F. Ratzel (4) Jean Brunhes (3) uw. Yeord 4) S gTed:
(5) Question not attempted (5) argaiRa U
80. As per Weber, a line of equal transport costs for ~ 80. JaR & AR, fawdt ¥t uarel a1 ST ¥g w9
any material or product is called - UREET AT B NET B & —
(1) Isodapane (2) Location-Triangle (1) amsHreTUA (@) saRefa—fErw
(3) Critical Isodapane (4) Isotim (3) mif<a® 3gars+ (4) Igaifed
(5) Question not attempted (5) argaRa ye
81. Which of the following group of places of United ~ 81- ®gaa vwg spiRa & ffafad & & b=
States of America is known for private ship ©HEl &1 998 o &9 # e fAEfr
building and repairing Industry? AT e & oIy SHT ST 87
(1) Atlanta, Iowa and Maine (1) vedier, smaar aor 3
(2) Wyoming, Utah and New York (2) =fa, ger gon =pis
(3) Virginia, Connecticut and Mississippi (3) goitf~rar, defdcee aur ARl
(4) Oregon, Montana and Florida (4) 3AE, HierT a2l FeiRer
(5) Question not attempted (5) srgaRa ueA
82. Which of the following are the subject matter of ~ 82. A foiRaq # & P Ywerde WA @
Positivism Geography? faggawg €7
(A) This is also called empiricism. (A) 39 3rg9adrE N Hel ST & |
(B) It is the antithesis of idealism. (B) I aTe¥are &1 favneft 2|
O It \gas founded b){ Alzlgu_ste‘Comte. (C) THY T MRS B Y o |
Elj)o)dl‘: : pposes authoritarianism. (D) T8 SRFTIwaTE BT RN BT 2 |
1 2) RE — :
(1) Eg;, (B), (C) and(2) (A) and (C) (1) (4).(B).©) IR DD () IR (©)
(3) (B)and (C) (4) (B), (C) and (D) ®) (B)3MR(C) ) (B), (C) 3R (D)
(5) Question not attempted (8) srgafe oo
83. The “red face” of the Green Revolution refers  83. gRq wifsq &1 ‘aral q@ler Hafid & —
to - (1) Prerral & s FIrT |
(1) excessive use of pesticides (2) o &5 ¥ R A weel ¥ afy &
:2) increase in violence in rural areas (3) *fY ¥ STV o T W
3) the problem of salinity in the soil _
(4) incrle)asc in productiorf of wheat & 75 1 SR ¥
(5) Question not attempted (5) TR s
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84. ‘Mahogany trees’ are found in which of the 84 WERFY ger fyafoiRed # & &9 UPR & o

85.

86.

87.

following type of forest?

(1) Tropical deciduous forest

(2) Tropical evergreen forest

(3) Mountainous forest

(4) Mangrove forest

(5) Question not attempted

Apart from Weber, which other Geographer
pfesented locational triangle for industrial
location?

(1) Isard (2) Smith

(3) A. Fetter (4) Hoover

(5) Question not attempted

The rocks of the Hamada desert region of
Rajasthan belong to which of the followipg
geological periods?

(1) Cambrian and Ordovician Periods

(2) Carboniferous and Permian Periods

(3) Oligocene and Miocene Periods

(4) Jurassic and Eocene Periods

(5) Question not attempted

Which among the following are the demerits of
Green Revolution in India?
(A) Inter-crop imbalances
(B) Regional i§pa.rities : }r_;‘
(C) Unemployment sek:
(D) Increase in interpersonal inequalities

Select the correct answer from the code given
below -

Code -

(1) Only (A) and (B)
(3) (A), (B) and (C)

(2) (A), (B) and (D)

(4) (A), (B), (C) and
(D)

(5) Question not attempted

85.

86.

87.

() (A), (B) 921 (C)

# 9 T &7

(1) SwEea=ig yvirRl &=

(2) Swmfeay ¥e@eR o+

(3) gddfa o=

(4) g o=

(5) 3rgiRT ue

IR & AfaRad, 3 & et 7 sefie
sraRerfd & ford srafRerfr Fryer gwga fdar?
(1) 5 (2 Reer

(3) T wex @) TR

(5) IrgaiRa we

ICRAM & FAGT FORIC Uw Bl 2o
ffafed & & foa ifis &1 31 87

() dfge T SifeifaRea o

(2) FrEiHE 9 ufifgT Fa

(3) IferFIR= T AR &I

(4) SRS T AR BIct

(5) argaRa g :

ara ¥ eRa Fify o Frafaied § § a9

w87

(A) I<R—H AT

(B) &3 HIATY

(C) SRISHTY '

(D) URER® IR d gig

I g T g d A W@ SW BT wA

aﬁﬁﬂ-q_

T —

(1) Bl (A) @1 (B) (2 (A), (B) T (D)

@) (A), (B), (C) @=n
(D)

(5) rgIRa ueA

32
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88. In Fenneman’s “Circumference of Geography”  88. il & "l B g § FEfoRag § @
which of the following was not included? PIaT Aftaferd e or?
(1) Biology (2) Geology (1) Sie—fasm= (2) y—fasm
(3) History (4) Physics (3) sfasm (@) “ifaa
(5) Question not attempted (5) 3rgIRd wee
89. As per Von Thunen’s theory, the profit of a  89. 9/ o9 & Rigid & SUR, & fHam &
farmer depends upon which of the following o fA=ferfad d 9 9 =i o faplR @war 27
variablejs? . : (A) T FT Fepal T
(A) Selling price of commodity
* (B) Production cost (B) SIS 1 AT
(C) Transportation cost (C) uRTET B AT
(D) Labour (D) =19
Select the correct answer from the code given I RY 1Y ge & T SR &1 979 PN —
below - HT —
Lde- - (1) (A), B)TM(C) (2) Baet (A) T2 (C)
(1M (A),(B)and (C) (2 Only (A) and (C) By B)TIC) @ (A), B), (©) T
(3) Only (B)and (C) (4 (A), (B), (C) and 3 .
(D) : (D)
(5) Question not attempted (8) SrgaiRa e
90. Which one of the following is a characteristic of ~ 90- 3= =gl # FrfaRed ¥ 4 F @
igneous rocks? faeryar urdy et 27
(1) Fossils (2) Exfoliation (1) Sirareq (2) 3roeres
(3) Layers (4) Crystalline (3) o= (4) TR
() Question not attempted (5) aaﬂﬁa Lo
91- Ideal condition/s for radiation temperature 91 WY Frr # fafdRor AT gepHYr B s
inversion during night is/are — ..., Refdsciz/g-—
(A) Clear sky EEE () we ar
(B) Cold dry air (B) 3& T Ty
(C) Windy night (C) TIST &4T aTelY RId :
Select the correct answer from the code given = Ry w1 ®e A 98 fAwed & @
below - BT —
Code - , oc —
(1) (A) and (B) are correct (1) (A)Ter (B) WEY B
(2) (B) and (C) are correct (2) (B) @ (C) wel &
(3) Only (C) is correct (3) g (C)wE &
(4) Only (A) is correct (4) ®aeT (A) WET B
(5) Question not attempted (5) argafRa yes
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92. Match the following Scholars according to their
respective Books and select the correct answer
from the code given below —

List-I (Book)
(A) An Outline of Geomorphology
(B) The Unstable Earth
(C) The Surface History of the Earth
(D) Earth’s Dynamic System
(E) Principles of Geology
List-1I (Scholar)
I J.Joly
(II) J.A. Steers
(IIT) Wooldridge and Morgan
(IV) G. Waters and Woodford
(V) W.K. Hamblin
Code -
(1 (A)-(ID), (B)-(1ID), (C)-(1), (D)-(V), (E)-(AV)
(2) (A)-(IIn), (B)-(1D), (C)-(I), (D)-(V), (E)-(IV)
(3) (A)-(1V), (B)-(II), (C)-(D), (D)-(V), (E)-(IID)
(4) (A)-(IID), (B)-(ID), (C)~(D), (D)-(IV), (E)-(V)
(5) Question not attempted

93. Which among the following is not associated
with influence area of city?

(1) City Region (2) Urban Hmtcrland
(3) Central Business  (4) Umland

District (CBD)
(5) Question not attempted

94. The districts included in the Agro-Climatic

Region I1I-B of Rajasthan is -

(1) Alwar, Bharatpur, Dholpur

(2) Bhilwara, Rajsamand, Chittorgarh
(3) Kota, Jhalawar, Baran

(4) Jaipur, Ajmer, Dausa

(5) Question not attempted

95. Which one of the following (Book - Author) is
not correctly matched?

(1) Air power : Key to Survival — D. Seversky
(2) Development in Political Geography —
A. Burnett
(3) The Corridors of Time — H.J. Fleure
(4) The New World — Isaiah Bowman
(5) Question not attempted

96. “The isolated regional economy gave birth to the
Genre de vie.” This statement was given by -

(1) Humboldt (2) Blache
(3) Hartshorne (4) Ritter
(5) Question not attempted

92.

93.

GET IT ON
Google Play &

frefea fagmi &1 v 9 9wfag gws
?%ﬁw gHfera a?rl?rrq eI ﬁ"ﬂ fag T He |
Gﬂ%ﬁ BT TIT PIFOTY )
e | ('3'\'ﬁ$
(A) TF ITSTAEA 3 b icrel
(B) T 3rFvcad
(C) T 9%y e it g ared
(D) 3 sEAf®S RieeH
(E) fRfues affe fRrareton
g1 (REm)
() o Sfell -
(m siw Rﬁaﬁwh
() dfesst vs
(IvV) Sf. ared U8 gebie
(V) S=g. oftatd
aﬁ iy
(1) (A)-(ID), (B)-(I1I), (C)~(D), (D)-(V), (E)-(IV)
(2) (A)-(IID), (B)-(ID), (C)-(), (D)-(V), (E)-(IV)
() (A)-IV), (B)-(ID), (C)-(I), (D)-(V), (E)-(11I)
(4) (A)-(1II), (B)-(ID), (C)-(D), (D)-(AV), (E)-(V)
(5) 3rgiRa ye
fo=fofag & 9 99 R @ W@ &9 |

TR T8l 87
(1) TR "e9r (ﬂ’-ﬂﬁﬂq@ﬁ%
(4) arcivs

(3) s AURS
5Tl (CBD)

- (5) g g

94.
? r %‘—!:

bk

95.

96.

%m@[@g?a}?ﬁ—mmul-sﬁﬂﬁm
(1) e, FRAR, gl

(2) Hrerare, IowHe, ST

(3) pier, smeEre, IR

(4) SR, TR, ST

(5) Sr<iRe uZA
%ﬁ?@ﬁﬁﬁﬁﬂ(ﬂﬁﬂ%—é@zﬁ)gﬁ%ﬁ
P 27

(1) TR UIR : & T Falgad — Sl Jaxwh!
(2) Sgeic 39 difdfedd SURMHT — T a9c
() T PIRSK 3% e”A — TS, ok

4) T g 9es — THNE dHT

(5) sg<iRd ueA

TP S fraweny SR I 41 B o qll
21" U8 YA o o —

(1) g 2) =
(3) B9 @) Rex
(5) IaRa g=
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97. In which census year, information on causes of

98.

99.

100.

101.

102.

103.

104.

7

24

migration was included in India?

(1) 1981 (2) 1971

(3 1961 (4) 1881

(5) Question not attempted .

Calculate the Standard Deviation for the
following values and select the correct answer -
01, 03, 05, 07, 09

(1) 2.38 (2) 2.03

(3) 2.53 (4) 2.83

(8) Question not attempted

‘Radiosonde’ instrument is associated with -

(1) the study of surface of the Earth

(2) the study of interior structure of the Earth
(3) the study of atmosphere

(4) the study of ocean

() Question not attempted

Which of the following districts of Rajasthan had
the highest per hectare production of Jowar in
2022-237

(1) Rajsamand (2) Karauli

(3) Bhilwara (4) Chittorgarh

(5) Question not attempted

Mangalam Cement Limited is located in -

(1) Modak (2) Bhiwadi

(3) Dholpur (4) Alwar

(5) Question not attempted

Von Thunen’s Agricultural Location Theory is -
(1) Idealist and Indeterminist

(2) Indeterminists and Mechanics

(3) Empirical and Normative

(4) Deterministic and Normative

(5) Question not attempted

“Human Geography is the study of changing
relationship between unresting man and unstable
Earth.” Who said this?

(1) Ritter (2) Miss Semple E
(3) Ratzel (4) Taylor k.
(5) Question not attempted

104.

Write the correct sequence of main cities of
Trans Canadian Railway from East to West -

(1) Halifax - Quebec - Winnipeg - Vancouver
(2) Vancouver - Winnipeg - Quebec - Halifax
(3) Quebec - Halifax - Winnipeg - Vancouver
(4) Halifax - Quebec - Vancouver - Winnipeg
(5) Question not attempted

97.

98.

99.

100.

101.

102.

103.°

GET IT ON
Google Play @&

ﬂﬂaﬁuamzﬁwﬁwwaﬂwﬁmﬁm
ST 99 # fasar Trr?

(1) 1981 (2) 1971

(3) 1961 (4) 1881

(5) sraRa ue

F=ifea 9m1 & v a9 REem &) 7o
PINTY U I IR BT TIT BT —

01, 03, 05, 07, 09

(1) 2.38 (2 2.03

(3) 2.53 (4) 2.83

(5) rgxiRa ue

RfSAS’ SuavvT Hefea & —

(1) godl & eRTEeT & rFTd |

(2) gedl & A<IRS HEAT & FeqAT J
(3) grgHYES & AT |

(4) wHg Seugd |

(5) 3=k g

fefafaa & 9 2022—23 § <o @ R
gﬁaﬁqﬁrmmaﬁmﬂﬁ%
?

(1) IoET (2) Hen

(3) Hfrerarst (4) fritsTe

(5) Sr<IRT U

HeH e fafies safRed @ —

(1) Ares ¥ (2) fars &

(3) dieyr # (4) srerar #

(5) argaRa W

a1 =g+ &1 HY el figia & —

(1) arreeErET qen ifreagard)

() sifrezrard) dem Tifys

(3) srgufds e AFHR

(4) Freggard] qen aHaY

(5) 3rgaRRa wed

HIHG e AReR Yol AR fhamefiar Ara &
e gRacd-eiiel Tl & 3edd+ 2 | U8 U
fareraT 27

(1) Rex (2) &, A

(3) Yeord (4) 2R

(5) argeiRa u=A

uf¥ed Pl 3R FE g ford —

(1) eferdbad — REgd — AT — o

(2) doHEr — AT — ®EE — e

(3) Fged — eferbad — fafieT — daqar

@) e — Fgdd — Faax — fafoer

(5) 3rgxiRa uw= :
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105.

, 106.

107.

108.

109.

247

Which wavelength/s of electromagnetic
spectrum is/are used in remote sensing?

(A) 0.03 - 0.2 nanometer

(B) 0.4 - 0.7 micrometer

(C) 0.1 - 30.7 centimeter

(D) 8 - 14 micrometer

Code -

(1) (A)and (D) (2) (B), (C) and (D)

(3) (A)and (B) (4) Only (B)

(5) Question not attempted

From Mackinder’s book, which Geographer took ___106-

the word ‘Heartland’?

(1) A.T. Mahan (2) James Fairgrieve

(3) Karl Haushofer ~ (4) Rudolf Kjellen

(5) Question not attempted

Which of the following (Indian Geographer -

Main Field of Study) is not correctly matched?

(1) S.M. Ali - Historical Geography

(2) R.N. Dubey — Economic and Commercial

Geography

(3) George Kurian — Geomorphology

(4) S.P. Chatterjee — Physiographic :
Regionalization of India

(5) Question not attempted

The term ‘Swidden agriculture’ is related to -

(1) Livestock farming

(2) Plantation agriculture

(3) Shifting agriculture

(4) Mixed farming agriculture

(5) Question not attempted

£

Given below are two statements, one is labelled
as Assertion (A) and the other as Reason (R).
Assertion (A): Anomaly is found between
geographical and magnetic north
of the Earth.
Reason ‘R): Variation is found in magnetism of
igneous rocks of different period.
In the above context, which one of the following
is correct?
(1) Both (A) and (R) are true but (R) is not the
correct explanation of (A).
(2) Both (A) and (R) are true and (R) is the
correct explanation of (A). . '
(3) (A)is false but (R) is true.
(4) (A) is true but (R) is false.
(5) Question not attempted

105.

107.

108.

109.

GET IT ON
Google Play

IR Haed # faga geom WAagd o Fa

TR BT SUANT fhar T 8 /87

(A) 0.03 - 0.2 ¥R

(B) 0.4 - 0.7 ATgshIHIex

(C) 0.1 - 30.7 HEHeR

(D) 8 - 14 AISHMIE

az\_d_.

(1) (A) 3R (D)

(3) (A) 3R (B)

(5) IrgalRa g

v o grad o {59 ieradn 7 gea &

vreg forar?

(1) vl w89

(3) ®Tet BITNHR

(5) sraRa T

frfaRea § @ @9 (Rd™ spEerdar —

T B WG &) FAfera TE 87

(1) TH.qH. srell — CferTiRie e

(2) aRTA. g9 — e Td afTF e

@) Sifs HRIT — g—apfar fa=m

(4) T geoll — MR &1 WMfeie ureeiiaRor

(5) 3raRa v

Ras oY vrg &1 T § —

(1) ugure SN |

() 9T B |

@) erEREl B ¥

@) e $fy &

(5) sraRa W

R & FoF QU MW E, T BT F (A) 3R

TR B PRYT (R) P Y A IR T 2 |

DU (A): G B AT AR JgbIg IR @

4= fegmfa a8 Sl 2 |
PR (R): A= &1 & am=g =gl &
g # ftar o o 2|

;uﬂwﬁaﬁﬁ,ﬁwﬂ%ﬁmﬁﬁaﬁﬁwwﬁ

?

(1) S (A) T (R) 91 & ifdd (R), (A) B
He! IR T8 2 | |

(2) 31 (A) TuT (R) W § AT (R), (A) B
TE IR § |

(3) (A) Tad & offT (R) 9l B |

@) (A) ¥ ? fps (R) T B |

(5) areiRa we

(2) (B), (C) 3R (D)
(4) ®a< (B)

(2) o= Bafg
(4) JSIeH Dol

32 -

Page 23 of 32


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

110. Which of the following surfaces has Albedo
below 20 percent?
(1) Dry earth and grass
(2) Fresh snow and thin cloud
(3) Wet earth and forest
(4) Old snow and thick cloud
(5) Question not attempted

11.Who wrote the book, “Mainsprings of
Civilization”?
(1) Humboldt (2) Ratzel
(3) Huntington (4) Ritter

(5) Question not attempted

112. Which of the following theory/model is based on

Geomorphic threshold and complex response
concept?
(1) Episodic Erosion theory ares g
(2) Composite model "Ir'irt

(3) Dynamic Equilibrium theory

(4) Tectonic -Geomorphic model

(5) Question not attempted
113. P, Sengupta and Galina Sdasyuk divided India

- into how many major resource regions?

(15 (2 6

(3) 7 4 9

(5) Question not attempted

114. Which one of the following pair (Ocean - Island)
is correctly matched?
Ocean - Island
(A) Atlantic - Fiji
(B) Arctic = .Bear "
(C) Indian - Kerguelen
(D) Pacific - Guam
Select the correct answer from the code given
below -
Code -

(1) (A), (B), (C) and (D)
(2) (A), (B) and (D)

(3) (B), (C) and (D)

(4) (A) and (B)

(5) Question not attempted

110.

111.

112.

113.

114.

GET IT ON
Google Play

fr=iferiRa & 9 fba was @1 vfeasT 20 uftera
q PH BT 27

(1) g 4 vd =19

(2) e f29 vd fRer area

(3) 77 9 v o '

(@) oxriT f&H ud wee qrEe

(5) IE=IRG T%
RERET B o?

(1) gxiee 2) Yeoe
(3) gfcmen @) Rex
(5) argaRa U=

fFrfeieaa 4 & siar Rigla /dfsa apias
AT g Sifed 9fafhar & Haheudr uR menRd
g7

(1) TveoIfers srores Rigia

(2) s\fas HAfsa

(3) 7t ager Rigia

(4) fads Ol Aed

(5) argiRa ue
Gl ST TAT AT FERYS A AR Bl b
T G gew H e s ar?
(15 (2 6
(3) 7 4 9
(5) IrgxiRe uz
frefoad 5 | SFaT g7 (FENRR — g)
gHferd 27
TR — g9
(A) Ucdifed — ol
(B) AMdbfed — TR
©) ez ~ B
D) werd  — T
A f3T Y FHe ¥ WE SR BT I DY —
R_

(1) (A), (B), (C) vd (D)
(2) (A), (B)Td (D)

(3) (B), (C) Wa (D)

(4) (A)Vd (B)

(5) SrgiRe Uz
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115.

117.

118.

116.

24

Match List-I with List-II and select the correct
answer from the code given below -

List-I List-II
(Regional Trade Group) (Member Country)

(A) ASEAN (1) Azerbaijan
(B) C.IS. (i1) Brunei
(C) NAFTA (ii1) Peru

(D) LAIA (iv) U.S.A.
Code -

(1) (A)-(id), (B)-(i), (C)-(iv), (D)-(iii)

(2) (A)-(iv), (B)-(iii), (C)-(1), (D)-(ii)

(3) (A)-(iii), (B)-(iv), (C)-(ii), (D)-(i)

(@) (A)-(i), (B)-(ii), (C)(iii), (D)-(iv)

(5) Question not attempted

Which of the following group of states recorded
decadal population growth rate below 10% as
per Census 20117

(1) Kerala and Sikkim

(2) Himachal Pradesh and Sikkim

(3) Goa and Punjab

(4) Goa and Kerala

(5) Question not attempted

Arrange the following approaches in
chronological order and choose the correct
option using the code given below -
(A) Areal differentiation

(B) Spatial organisation

(C) Exploration and description
(D) Regional analysis

Code -

(1) D)-(©)-(B)-(A)

(2) (B)-(C)-(D)-(A)

@) (©)-D)-(A)-(B)

@ (A)-(B)-(C)- (D)

() Question not attempted

Which of these is an Equal Area Projection?
(A) Polyconic

(B) Bonne’s

(C) Sinusoidal

(D) Polar orthographic

Code -

(1) (B) and (C) (2) (B) and (D)
(3) (A) and (C) (4) (A) and (D)

(5) Question not attempted

3,

115.

116.

117.

118.

GET IT ON
Google Play

-1 B A1 9 gafera s aer =

ey T T ¥ 9 S| B T Hfw —
G| -1

(e IR wiE) (e Wg)

(A) IR (i) 3RS

(B) Hl.amg.q4. (i) g3

(C) AT (iii) I

(D) efrsar (iv) |ga o

IMRST (U.S.A.)
a;‘a' N

(1) (A)-(ii), (B)-(i), (C)-(iv), (D)-(iii)

(2) (A)-(iv), (B)-(iii), (C)-(i), (D)-(ii)

() (A)-(iii), (B)-(iv), (C)-(ii), (D)-(i)

@) (A)-G), (B)-(ii), (C)-(iii), (D)-(iv)

(5) srgaRa we

STHOMT 2011 & Ig9R, FfaRad § 9 fe
RISl ¥ SRR ST 3fE ) 10 wiaw 9@
&Y 3ifbd gg?

(1) B 3R Ryfdsq

(2) fvrger wewr 3R Rifass

(3) TraT 3R gTe

(4) a7 3R B

(5) srgailRa g

fr=feiaa Summl & @A B AR
FaRerd 3 3R A1 RY 10 ge & w8 fe
BT TIT BN —

(A) &3 faves

(B) ®RIf9% e

(C) 39997 3R faawor

(D) Uef¥re fagermor

@ =

(1 (D)-(C)-(B)-(A)

) (B)-(C)- (D) - (A)

®3) (O)-D)-(A)-(B)

4 (A)-(B)-(C)- (D)

(5) argaRa y

ST 9 P9 GHEH YT 27

(A) g3HP

(B) 919

(C) arggdissd
(D) g Fahiviry
az\a' T

(1) (B) @ (C)

@) (A)TE (0

(5) 3R we

(2) (B)Td (D)
(4) (A)Td (D)
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119. World map of Claudius Ptolemy was drawn on 119 g&iif$gw il &1 fdvg w1 fda yeu w

which projection? T AT AT?
(1) Modified Conical (1) FIfer TR
(2) Cylindrical Equal-area (2) JATHR T B
(3) Polyconic (3) sggqarl
(4) Cylindrical Equidistant (4) JSTPR HHGRE
(5) Question not attempted (5) IR ue
120. Which of the following book’s approach is 120-f=foRed # @ e gwad o1 Ifeam
deterministic? Freggard 87
(1) Principes de Géographie Humaine . (1) fifTs s AT ggHA
(2) Anthropogeography f}{'ﬂi (2) TrITOISTATIT®SY
(8) Geography and the Social Science M (3) SURIM®! Yvs § AN 989
(4) Geographical Introduction to History 4) sOfhed soreRE ¢ R
(5) Question not attempted (5) 3rgaiRa weA ;
121. Wentworth scale is related to - 121. geqef Aus FHEfg & —
(1) Tidal range (1) =R’ ¥ 9|
(2) Wind velocity (2) gyg=1 97T |
(3) Hardness of rocks © () TEEl @ doRar | ,
(4) Grain size of sediments (4) TIBC B FUNT D AHR A
(5) Question not attempted (5) rgeIRa wee
122. Banjari and Laxmi of Jaipur district are mining 122 R 7l &Y §9i) T o1&l @4 &1 / @M
areas/mines of - g - :
(1) Mica (2) Silver (1) a9 a1 (2) =rdY a7
(3) Gypsum (4) Dolomite (3) Rregq 31 (4) SIS B
(5) Question not attempted (5) IR we
123. According to Thornthwaite’s, which climate 123. offHerde & IR, AU W AFRE # BRI
does the shaded area in the given map represent? &7 e Searg &1 gsRia axar 87

wr

(1) DA'w (2) CA'w (1) DA'w ) CA'w
(3) DB'w (4) EAd (3) DB'w (4) EAd
(5) Question not attempted (5) SrgIRd we
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124. “A race means a breed, not culture”, who among
the following stated this?
(1) A.R. Kroeber (2) G. Taylor
(3) Vidal de 1a Blache (4) A.C. Haddon
(5) Question not attempted

125. Off-shoring activity is related to -
(1) Tourism - (2) Transport
(3) Space (4) Data processing

(5) Question not attempted

126. Who among the following Roman Geographers
largely contributed in Physical Geography?

(1) Strabo (2) Firmanus
(3) Polybius (4) Solinus
(5) Question not attempted
127. Which is suitable for prediction of weather?
(1) Median (2) Standard Deviation
(3) Mode (4) Mean

(5) Question not attempted

128. Which of the following is not associated with the
science rules fixed by the ‘Vienna Circle’
scientists?

(1) Knowledge must be value free.

(2) There should be a compulsory testing of a
hypothesis. :

(3) Facts are supported by empirical evidence.

(4) Knowledge should be mixed withiy
metaphysics. ;

(5) Question not attempted

129. Consider the following statements and select the
correct answer from the code given below -

(A) In mountainous region, winds move

GET IT ON
gee Google Play

124. "goifey -I%eT Y Whe BRal ©, 7 b adr a1,
IE HuF ffaRad § 9 feger 8?2
(1) TamR. HIex (2) Y. SR
() faera S o @ () T A

(5) FrgaRa we
125. aifp—anfiar wfafafr wwifea @ —
(1) wfeq ¥ (2) gRass &
(3) 3fafer | (4) 3T BT TGP
3
(5) SrgiRa weA

126. fPrfoiae A miterasrell A @ e
AT iferepierct: Hifcrep aier # er?

(1) war @) e
() dfenfegs (4) wifera
(5) Srg=iRa ue

127. Hrm &1 Jfasrarh & fog Suged & —
(1) =rfege (2) A fdge
@) sgas (4) 5
(5) srgaRa we

128. fep=forlRea § v ‘T 9oa dgi=ol &

fReiRa fasm fraal @ &g =& 27

(1) 59 4@ gaa B @Ry |

(2) aReeu=T BT Werr Afad w9 B
=Y | ,

() T JrIfde wedt | wEldfa B & |

j.a].'; (4)Wﬂﬁmﬁwmml
T (8) sreRa we

129. famfoarRad poHl R faar ST gor e
TY FHE A el SR BT FIT DIRIY —
(A) Tdd &=t A o @& 9FY Uae S @

upslope during day time. AR T H &
(B) Wz‘iter in sea gets heated by sun rapidly than (B) TYE BT G ?I{f ERT a7 Meeadt &=
ket ko 1. o aifdyes ot T B |
0, m(())rjvl?t:i?lrous :'::loivoilm?smkno(\)m a:m‘lVallén © it 9l % A A AR P e
=i % f T T TR PE |
reeze’. -
Code - X 233
(1) (A) and (B) are correct (1) (A)qer (B) Wel &
(2) Only (B) is correct (2) Bae1 (B) WEl ©
(3) Only (A) is correct (3) Tad (A) TE B _
(4) (A), (B) and (C) are correct (4) (A), (B) T (C) W& &
(5) Question not attempted (5) SrgaRa wes
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130.

131.

132.

133.

-134.

135.

136.

As per Koppen’s Climatic Classification, mid-
latitude wet and dry climate with cold winter has

been symbolized by -
(1) Cw (2) Df
(3) Cf (4) Dw

(5) Question not attempted

In Thornthwaite’s 1948 Climatic Classification,
Potential Evapotranspiration (PET) is calculated
from -

(1) Mean annual temperature

(2) Mean maximum monthly temperature

(3) Mean monthly temperature

(4) Mean monthly precipitation

(5) Question not attempted

The Department of Soil Survey in India was
established in - :

(1) 1953 (2) 1954

(3) 1956 (4) 1960

(5) Question not attempted

Balaghat manganese producing belt is situated in
which of the following states of India?

(1) Odisha (2) Madhya Pradesh

(3) Chhattisgarh (4) Jharkhand

(5) Question not attempted

Which of the following rivers is not a tributary
of Banas?

(1) Berach (2) Kothari

(3) Morel (4) Moren

(5) Question not attempted

According to Census 2011, in which district of
Rajasthan the Rural and Urban sex ratio is
highest respectively?

(1) Bhilwara — Chittorgarh
(2) Dungarpur — Pratapgarh
(3) Rajsamand — Banswara
(4) Pali — Tonk :
(5) Question not attempted
Clouds that are usually formed either by loss
of heat or by the mixing of air masses with
different temperatures, are -

(1) Nimbus clouds (2) Stratus clouds

(3) Cirrus clouds (4) Cumulus clouds
(5) Question not attempted

130.

131.

132.

133.

134.

135.

GET IT ON
Google Play

BT B SIedr] AR b AR, Sl A
g B AT WA I G qAT YD

Sietarg @Y e udite & e T 8?
(1) Cw (2) Df

(3) Cf (4) Dw

(8) araRa ue

offfierde & 1948 & SfardTy dIIHROT § HHTY
o7 TSI (PET) O 0T &1 I & —
(1) 3 arffies a9

(2) 3ia st ARYE dgHE |

(3) 3t =1l AT |

(4) g =R w0 ¥

(5) SR we

W # T FAEOT fAMET P I P g A7
(1) 1953 § (2) 1954 ¥

(3) 1956 # (4) 1960 #

(5) IrgaRa ye

qrTETe HHIST SeTe Ul YR & fferiad
3 ¥ frg wog # Rerg 87

(1) anfeem ' (2) e Y

(3) wxiTe @) IIRgETs

(5) s ue

frefoRag & ¥ 9l 9919 @ GERG T4l
e 8°?

(1) Js= (2) BRI

(3) HRa (4) d9r=

(5) ar<iRa we

ST 2011 & SR, Yo & fde el
¥ wer g 9 T o waifte 87

. (1) frerarer — faxirsTe

(2) ERER — TATTE
(3) roTHE — drFarST
(4) urelt — Tiw
(5) Srg<IRa we

-gradl Sl GEa: A1 d S D 3 Al

SITT—aTelT TYAMT WX a1 Sl & 3Mud
e 9ed 8 98 —

(1) g9t 79 (2) w5 7y
(3) werv Hy (4) Hu 7Y
(8) sraRa we
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137.

138.

139.

140.

247

Hellenic plate is located at -

(1) Alaska and nearby area

(2) Norway Sea

(3) Mediterranean Sea and nearby area
(4) Gulf of California

(5) Question not attempted

é,; -

b | am

Which of the following is true about arithmetic

mean?

(A) Does not depend upon all values of a series.

(B) Suitable in correlation method.

(C) Obtained value is in both decimal and full
number.

(D) Suitable for
percentage.

Code -

(1) (A)and (B) (2) (B) and (D)

(3) (B) and (C) - (4) (A)and (D)

(5) Question not attempted

studying proportion and

“Movement involves a change of residence for
substantial duration”, who among the following
stated this? '

(1) A.V.-Perpillou (2) Berklay

(3) Donald J. Bogue (4) Clark

(5) Question not attempted

Which of the following is correct sequence of

mountain peaks of Aravalli in descending order

of height?

(1) Raghunathgarh, Nagpani, Hrishikesh,
Taragarh

(2) Hrishikesh, Raghunathgarh, Taragarh,
Nagpani

(3) Hrishikesh, Taragarh, Raghunathgarh,
Nagpani

(4) Raghunathgarh, Hrishikesh, Taragarh,

137.

138.

139.

140.

GET IT ON
Google Play
T e Rerm & —

(1) ITERRT TAT AU B &5 T

(2) 51§ |rR ¥

(3) e AR AT ATHUTH & &F H

(@) Bfermifiar 1 @) |

(5) 3R ue -

frfoiea # 9 S T9=R T8 B IR H-
e &7 |

(A) @ & ¥ 7M1 ) R T8 g

“(B) wewHdy fafyr # Sugaa 21

(C) U< 719 Se¥erd AR Ui 6ear <1 H 8
gl
(D) 3rgure SR GfiRId & 3 & forg Suyad
2 '
T“c:_
(M (A)va (B)
() B)Td(C)
(5) srgaRa we
"Uq TP UHIGI 99 6 fore e wie @
gRadH wEarar &, I8 b fFEfefad § 9
fargaeT 27
(1) odr. R
(3) SHTes . 9T
(5) srgalRa yeA
F=fofed & & oRmEelt wda & @ifedl @

$AE B AR Hel Tedl B & —

(1) gATRRTE, AR, FWDY, ARG
(2) %MDY, YR, TRETG, AFTIHT
() HfWDY, TRATG, ARG, TR

() (B)wd (D)
4) (A)wd (D)

(2) 9P
(4) Tl

(4) gARATS, XDy, m?rrrc.r BINEIE]]

Nagpani (8) srgaRa v
(5) Question not attempted :
. 141. Which one of the following is not included in 141 fr=ifeiRea 3§ & == R—vafa Rrrr vegs
* non-projected teaching aids? |l § afafoa 7@ 27
(1) Specimen (2) Transparencies (1) (2) giawHS
(3) Diorama (4) Map (3) SR (4) s
(5) Question not attempted (5) srgaRa ue
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142.

143,

144.

145.

e

/

Which of the following is not the Basic

Assumption of co-operative learning?

(1) Students should be given opportunity to
work co-operatively in teaching-learning
process. :

(2) Students can learn effectively if they involve
fully with learning process and helping each
other on learning path.

(3) Evaluation of learning should be measured
through achievement of each individual
learner.

(4) Evaluation of learning should be based on
what were the objectives framed for group.

(5) Question not attempted

Which of the following statement is not correct

about the social system of Concept Attainment

Model?

(1) The model is relatively structured.

(2) Students interaction is encouraged.

(3) The student controls the sequence of phases.

(4) The model has moderate structure.

(5) Question not attempted

A ‘teacher wants to apply Suchman’s Inquiry

Training Model in a class. What should he/she

does first?

(1) Ask students to memorize key concepts
before the lesson begins.
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(2) Present a puzzling situation or problem and e
encourage students to ask investigatory;_:-[] I’-i

questions.
(3) Give a lecture explaining the content in
detail before allowing any queStion.
(4) Provide direct answer to student’s questions.
(5) Question not attempted
Which of the following step is not part of the
system approach in instructional design?
(1) Selecting random teaching methods
(2) Identifying objectives

~ (3) Designing learning experiences

(4) Evaluating effectiveness
(5) Question not attempted
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146. Which of the following statement regarding the
software approach to educational technology is
not correct?

(1) It is also called behavioural technology.

(2 It is characterized with task analysis,
formulating objectives and selecting
appropriate learning strategies.

(3) Psychological principles of teaching and

, learning are used in this.

‘ (4) It is the mechanization of teaching and

~ learning process.

(5) Question not attempted
147. Assertion (A): Post-Validation is an important
step in the computer assisted
learning process.

Reason (R): It helps in making corrections
before implementing the computer
assisted module.

(1) Both (A) and (R) are true but (R) is not the

correct explanation of (A)
(2) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

(5) Question not attempted

148. What is the main advantage of a Super Video
& Graphics Array (SVGA) cord in computers?

L (1) Enhances the quality of graphical images.

| (2) Increases CPU performance.

(3) Increases the speed of internet browsing.

(4) Reduces power consumption.

(5) Question not attempted

149. What is a primary application of Computer
Assisted Instruction (CAI) in education?
(1) Developing self-paced learning

programmes.

(2) Replacing traditional books entirely.
(3) Limiting students’ access to knowledge. -
(4) Eliminating teachers’ role.
(5) Question not attempted

150. What does ‘Netiquette’ refers to?
(1) Avoiding all digital communication
(2) Speaking loudly online
(3) Online behavior and interaction

! (4) Not using punctuations in messages

(5) Question not attempted
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